% ’ g a % Multiplicar por potencias de diez (nimero faltante)

Nombre: Fecha: Puntuacion:
6,013 x = 06013 2,686 x = 2686
8,437 x = 8437 1, 659 x =165.9
1,011 x = 101.1 9,35 x =935
2,237 % =223.7 10, 59 x = 10590
2,77 =277 6, 986 = 098.6
6, 635 x = 66.35 2,223 x =22.23
10, 487 x = 1048.7 10, 28 x = 1028
1,228 x =122.8 8,672 x = 8672
6, 688 x = 6688 8, 123 x = 81.23
5, 165 x = 5165 6, 15 x = 6150
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w ’ g a @f/ Multiplicar por potencias de diez (nimero faltante)

Nombre: Fecha: Puntuacion:
6,013 x 1000 = 6013 2,686 < 1000 = 2686
8,437 x 1000 = 8437 1,659 x 100 = 165.9
1,011 x 100 = 101.1 9,35 x 100 = 935
2,237 x 100 = 223.7 10, 59 x 1000 = 10590
2,77 %100 =277 6,986 x 100 = 698.6
6, 635 x 10 = 66.35 2,223 x 10=22.23
10,487 x 100 = 1048.7 10,28 x 100 = 1028
1,228 x 100 = 122.8 8,672 x 1000 = 8672
6, 688 x 1000 = 6688 8,123 x 10 = 81.23
5,165 x 1000 = 5165 6, 15 x 1000 = 6150
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